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INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Only oue answer is to be given for cach guestion.
If more than onc answers are marked, it would
be treated as wrong answer.

Each question’ has four alternative responses
marked seriafly as 1, 2, 3, 4. You have to darken
the correct answer.

There will be no negative marking for wrong

‘ANSWer.

The candidate should ensure that Roll Number,
Subject Code and Serics Code on the Question
Paper Booklet and Answer Sheet must be same
after opening the envelopes. In case they are
different, 2 candidate must obtain another
Question Paper of the same series. Candidate
himself shall be responsible for ensuring this,
Mobife Phone or any other electronic gadget in
the examination hall is strictly prohibited. A
candidate found with any of such objectionable
material with him/her will be strictly dealt as per
rules, '
The candidate will be atlowed to carry the carbon
print-out of OMR Response Sheet with them on
conclusion of the examination.
If there is any sort of ambiguity/mistake either
of printing or factual nature then out of Hindi
and English Version of the question, the English
Version will be treated as standard.
Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, F.LR. would be

lodged against him/ber in the Police

Station and he/she would liab}
prosecuted under Section 3%
R.PE. (Prevenlion of Unfq :
Acl, 1992. Commissionmay ‘alSo
debar him/her permanently from all

future examinations of the
) " Commission.
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W UsT & Wi dmfenes wae R R ¥, R paan:
1, 2, 3, 4 iy Rem v &) avedt wd) I A
i W W B
e S & RIY ®OTED afe <) e s |

| e R T i s 3 R Y di aie

1t wlendt a5 ghivom @t d 5 s ege
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1 Which of the following sets is countable ?

16 (1) Canter - Ternary set

(2) Set of all irrational numbers
(3) Set of real numbers in the open interval (0, 1)

1 2 3 n
“@) the set {E’ -3-, Z, cerbareeny m,}
P § ¥ Fm-w wge™ THE ¥ 7
(1) F= - TEY T |
(2) omfow dEmel &1 T=d
) frgg srawm (0, 1) ¥ awdfae demel & ey

{l 23 LR }
(4) wg=E S 3 s

i ]
1+ — when » is even
' n
2 Let X, = , then

—1———1— when #» isodd

16 o
(1) iull_r)nm sup x, = nlinm inf x =1

@ nll_r}nm sup x, = nll_r)nm inf x =-1

3) nh_r)noO sup X, =1, ”ll_r)nm inf x =-1

@) lim supx_ =2, lim inf xnéi _

n—roq H—o
1 o
| 1+~ , @B » 9 %
R ox, = '"1 ,
~1-= , Sqh » Tram %
n

(1) nh_l)nm sup x =ﬂ1'1;nm inf x =1

@) nlflw sup X = nh_{)nm inf x, =1

(3) lim supx_ =1, lim inf x =-1

n—ee N n—yoo
16 (4) "ll_r}nw supx, =2, "11_1:100 inf x =1
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3
m |-
@ {n}
@ {7}
1
(4) {;}
Fest & & @ o
m {0}
2) {n}
@ {7}
1
4) {;}
2 sin x
4 The integral Jﬁdx‘
0 X

(1) Converges if >3
(2) Converges if n>3
(3) Converges if n<3
(4) Converges if p<3

Tn:/Zsinx
TR f — dv
0 X

(1) ofyEd, af ,s3

ot

wefr o ¥ 7

aﬁd diverges if »<3
and diverges if p<3
and diverges if n>3

and diverges if 5 >3

Td omErd, gt n<3

@ ofEd, ok 4>3 wE e, ufy n<3
(3) ofmr, o p<3 @ e, iy n23
(4) mﬁTHT&, Tfe n<3 W GN'GT&, g n>3

16/ MSPS2_A|
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 Which of the following sequences 'is a cauchy sequence 7. .1

PR

16

R o

16

16



o 1if xeQ
16 5  The function f:R— R defined by f(x)=

0if xe R\Q“ then

(1) f is continuous at every point R
(2) fis continous on R-Q
(3) fis not continuous for every point on R

(4) f is continuous at every point on N

13k xeQ

0, I xeR\Q ¥ whoer &,

% f Ro R, f(x)={

(1) R & waw frg W ' dad w8
@ R-Q W GaT f wEw ¥

(3 R & % farg W 7 omEdd ¥
@4 N &% 7% g w f wad ¥

6  Which of the following function is differentiablé_ at origin ?7-
16 1 fx)= ,}ix|
| xsin[-]-J if x#0
2) flx)= x
0 if x=0

MONNOESS

@ 7(x)=xx
e A 4 - wE W A W oEeeE § 7

M fx)=4f x|
@ f(x)={

@ fE)= |

16 @ r@=x=

16/MSPS2 Al 4 HUWHIH tConsd...



7 'The domain of the function f(x, y):ﬁm +1n ( 4x? —.yz) is 1 6
(1) {(x,y):15x2+y2<4} |

@ {(6y)1<x?+y <4}

@ () ISx +y <4

{
@ {my)1<dey?<d)
{ |

e f(x,y.)=4x2+y2 —1+ln(4—x2 -—yz) & uiT ¥
ey {(x,y):15x2+y2<4}

@ 1(xy): 1< x? +y <4

{ } |
3) {xy )1<xt+y <4} 16
{Gey <4}

@

8  If one of the eigen values of a 3x3 real matrix 4 is 2, then one of the
eigen values of 4% is
(1 16
2y 8
(3) 2
(4) 4
AR Rl 3x3 aTwiew oy 4 % oftwehe W ¥ 4w AW 2 &,
4% W wm ofmERE 7 e
1) 16 -
@) 8
G 2

@ 4 16
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wds oprane e S g
v9 Which of the following series is absolutely convergent 7

oo (_1)1?
o X 22

n=1

2 (1)
3) 2;1 -

oa (_I)}?
@) gl i

g % & B I Prdw offmrd ¥ 7

16 o s

3) &

@ 3

10- " Let f(x)=x2/3,xe[0,l], then on [0,1]
- (1) fis of bounded vriation and /' is unbounded
(2) fis not of bounded variation and f' is bounded
(3) fis of bounded variation and f*' is bounded
(4) fis not of bounded variation and f' is unbounded
el o6 f(x)_=x2/3,xe[0,'l] a [0,1] W
(1) f uiEw e &1 % qu f enies ¥
) f Rag frere & 8% ¢ aw f feg ¥
(3) f i fmww &1 ¥ v S wREw ¥
16 @) f "as FEw @ A8 ¥ 9w /0 oeias

16/MSPS2 Al 6 [N (Coned...



11 If a metric space X satisfies Bolzano - Weierstrass property, then

(1) X is not compact 16

(2) X is not sequentially compact

(3) Every infinite sequence {xn} in X has no cluster point

(4) Every infinite sequence {xn} in X has at least one cluster point

o i gafe X <o - TEem s d9ge w39 §, A
(1) X deq & ' |
(2) X orprfs Hed e ¥

G) v sttt egwa {x ) @ x ¥ e g W@ Y
) uﬁﬁm&ﬁam{x}mXﬁm@rm@@ﬁg%

n

3 -4 235
12 If 4 =[1 3 s 6]’ then which of the following vectors is in the null

16

space of 4 ?

M [ 7 -8 of
@ [71 4 -5
G no1af

@ 22 2 2f

3 -4 2 5

ﬂ‘f’&’A:[
1 3 56

]ﬁr,?ﬁﬁwﬁ%ﬂﬂ—maﬁwAa?raﬁmﬁz
¥ g

W [37 8 9f

@ [71 4 s

@ o1 af.

@ [2 22 2f | 16
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16

it .‘s--T'.--
f(l) -n—axis - oot
@) y-axis . * '
(3) on circle | z|=2
(4) A line not passing through origin
afy |
%
(1) n-o18 v
Q) y-a@

G) T |z|=2 W
@ T fag ¥ 7 T O T Yar

-
o

14 . At which pomt the function f(z)_x3 qﬁzy is analytic €

g:-s_ o

{%(1) (0, 0) . * . E | A . i .
@ an
G ©D

(4) No where -

we f(2)=%y +2iy fra Ry W PR ¥ 7

(1) (0, 0 | ,ﬁg_
@;) (.1: n ‘5_ g

1)

@k

16/MSPS2_A] 8 I (Conta..
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16 If f(z)=1

: 4 a1
z 42215, :
15 - The value of JZ—S—--dz is - L 16
i Qe 22T
N EETRN S LSS
'1 R/
(1) T
_ , i
( ) 6'
B m
4) 2m
e 42250
. -.[""‘““;""‘1"5' dz @& ME B
=3 (z-2) |
n X
AT | N |
o = | | 16
6 .
3) wm
4) 2mi- -
23-522472-2

and the path of the integral C is a circle with

) |
centré of origin and radius. ' 7" then ‘the 'CaiiCﬁy'_és" theorem is applicable,
when '7' 1s equal to ' '

(I 1 : s @) 2

3 4 4 6 7

B35 27
ai f(z)=> (Z_S;)(:Z) 2 g e o C s a0 & Fasr =

@ fg 9o Bew o ¥, O @l W wgeE B ST awal €, wEie
TEE 1 o

1 1 2) 2 :
G) 4 @ 6 16
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16 17 | lim = is equal to

z—0 Z

(1 1

@ -1

3 0

(4) Doesn't exist

. 2
lim — «ER %
z—0 2z

(H 1

2 -l

(3) 0

@) Taemrr 98 ¥

16 o
is

18 Radius of convergence of power series 2 3 7
n=01t+iH

(R

1

—

€3]
€))
@ 3

b

oo 2—n

oL EDY

n=01+fn

2znﬂﬁ@TﬁT{r{°T%lﬂﬂ%

[N

(i)
2) 1
G) 2

6 o

16/ MSPS2_A] t B (Cone.-
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20

The image of imaginary axis in z-plane under the transformation

w=e is o 16
(1) Parabola

(2) Hyperbola

(3) any circle

{4) unit circle

IR w=e® % o AW ¥ @l S B Wil B

(1) Y@Eeg

(2) eiqReEE

@) R

(1) T

If a transformation W= ath transforms the unit circle in the w- plane 16
- cz+d

into a straight line in the z-plane, then

(1) bc—ad =0

(@) be+ad=0

3)  |a|=|]

@ [bf=|4|

o wmm W=, % g @z ¥ o
@ ff-"ﬁm'_vlﬁa FH@r &, @ |

(1) be-ad=0

(2 be+ad=0

G)  la|=1el

@ Pl-ld | 16
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21 Every infinite cyclic group is isomorphic to
6w

@ {0+

3) {R, +}

@ {R.} |

) {1,+} |

@ {o.+}

® {r+}
@ {R-
16 | {&1

22 If {G,*} is a group such that (a*b)2 =a.2"‘b2 VabeG, then

(1) G is a cyclic group |

| {2) G is non abelian group
(3) G is abelian group
(4) G is both cyclic and .abelian group
a [G,¥] ws wyE ¥ s (a*0)’ =a’*b? VabeG, @
(1) G T T TE ¥
2) G T ANl E ¥
3) G & R wE ¥

16 @ G, TR T aRe wqE A

6 | '
16/MSPS2_ A] 12 IWIMIEH (Contd...
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24

Let f 3(1 "")"’(R: ‘) is homomorphism and J (3)=Z’ then the value of 16

1
M o
(2) 16
o 16
Ol
) o4

Which of the following is not a principal ideal domain ?

(1) (z, +, -)
@ (0.+9)
(3) (R, +, a)

“ (zs’+s’xs)
Prer § ¥ @ o PPeTER WE ¥ ¢
@ (z+9) |

@

13 NN teontd...



16

16

16

25

26

The general solution to a third order linear homogeneous differential

equation for y{x) with real coefficients, is two known solution are e 2"

and sin3x, is

. —2x 2x :
(1) y(x)=ce ¥ +ce™ +cysin3x

2) y(x)= cle_zx + xcze_zf +c, sin3x

@) y(x)= 'cle“2Jr +c,xsin3x+c, sin3x

_ . —2x :
@ y(x)= Ge " +c, cos3x+cysin3x

af & ¥ sW ¢ wan sin3x ¥, @ y(x) ¥ g9 B A awat

(1) y(x)= c]e_zx +02e2x +cy 5in 3x

2 y(x)= c:le_2 +xc,e”

x4 ¢y sin3x

(3) y(x)= cle_zx +c,xsin3x+cysin3x

@  y(x)= cle_zx +c, cos3x -+ sin 3x

‘ n/2
The extremals of the functional J/[¥(¥), z(x}]= ,[ [y 2224 2yz]a&‘,
: 0
»(0)=0, y(n/2)=1, 2(0)=0, z(m/2)=-1 are
_(1) y_=sinx,z=—sinx 2) Y =COSX, Z=—COSX
(3) y=tanx,z=secx (4) y=sinx,z=cosx
nf2 | '
watw  fy(.2()]= | [y2ez2eo]dn p(0)=0, y(n/2)=1,
0 .
z(0)=0, z{n/2)=-1 % wEwwE A
(1) y=sinx,z=-sinx (2) y=cosx,z=—cosx
(3) y=tanx,z=secx 4) y=sinx,z=cosx

16/MSPS2 Al 1 VI tContd...



27  Consider the following statement related to the PDE's f=xp—yg-x=0,

16

gEx2p+q~—xz=0
(A) z=x(y+1) is a solution of both f=0 and g=0
(B) z=x(y+1) is a solution of =0 but not a solution of g=0

(C) z=x(y+1) is neither a solution of f=0 nor a solution of g=0

(D) Both f and g are compatible
which of the'following is true ?

(1) only statement (A) is correct

{2) - statements (B) and (D) are correct
(3) Only statement (C) is correct

(4). Only statement (D) is correct

16

| emfémaramwﬂmw f=xp—yqg—x=0, g5x2p+q—.xz=0 ¥ gt
e syl 9t RemR i

(A) z=x(y+1), f=0 TF g=0 B & & &

®) z=x(y+1), f=0 B EA UGG g=0 W wW IH ¥

€ z=x(y+1) TH f=o T E M T g=0 W ¥ ¥

(@) f=07Td f=0 &M ¥

@ fer & ¥ P oE ¥ 7

(1) aﬁﬁ%ﬂﬁ'(ma@r%

(2) %a@ (B) am (D)H?f%.

(3) %aw WU (C) vl ¥

(4) Haw@ wuT (D) o8 & E | 16

(RSN (Coned...

)]
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16 28 The second order PDE a—"_25in X 97z —0052 xa—z— cosx-a-zi= 0 15
ox2 oxady ? dy

(1) parabolic for all values of x and y
(2) parabolic in the half plane x>0
(3) parabolic in the half plane y=0

(4) hyperbolic for all values of x and y
fad wife @1 oifyes sras@ Geih ol

2 2 ) 2
£—2sinx 9z —0052 x—z—cosxg-z—:o @TIT
ox? dxdy ay? y

() x @ y & @l o % g el
@) edaw x>0 ¥ wadw

(3) sd-w@ y=20 ¥ wadE

(4) x & y & @ 9 & e sRuady

16

2 .
29 The trapezoidal rule applied to I f(x)dr gives the value 4, and
: 0

I
Simpson's Y rule gives the value 2; then what is f(1) ?
(1 4
(2)

€)
)

@ N ] —

) .

mﬁaﬁm-wgaﬁaﬂ%wff(x)dxwmﬁ4'amﬁmﬁ§ﬁw@r
0 .

AW 2 o g, @ f(1) AW Em P

1\ 4

2
(2) >
3) 2

6 “°
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30 If the Lagrangian of a closed system does not depend explicitly on time, then
' (1) linear momentum is conserved . o 16
(2) angilar momentum is conserved :
(3) total energy is conserved
(4) the Hamiltonian of the system is conserved
oy fedl gn vl & WY WE w9 ¥ @ W PR T @ @), o
(1) o gaT-ERem B | (2) VT HT-ETET gen ¥ |
() PAGH B EEIANE | (4) TR F T e dw ¥

31 The val_ﬁes of ), for which the solution of integral equation

1
g (x)=1+7L_[(1—3xt)g (f)dt does not exist, are
, 5 | o
1) [Af<2 _ @) <1 S

Gy [A>2 . : _(4).|;k|>1
1

AR G £(x)=1+1[(1-3x0) g (1) 71 7w 16: o

femm w8 §, @m 0
M A<z @ <1

3Gy pl>2 | @ >
32 _The equatipn of motion of a simple‘pendulum of length £ is given by
(1? é+(%]6=0 | @) é-+(%)sin9_=o
(3) ‘§+[%)cose=0 @ Nc‘me. of t_hese._
W%‘. £ % W TS B GBI I@m
(.1) é-.l-(%]6=0. ) §+(%]si1j9=0

(3) é-!-(—%}cosG:O -(4) T X B qﬁl | 16

16/MSPS2_Al 17 [N (Contd...



16 33

16.,

16

. . . X o
The resolvent kernel of the integral equgtion g(r)=_$in-x+2]'e(x"')g(f)dt-

is
(1) S o @ 2
3y  Slx+) @)

gqmmﬂw g(x)_:sinx+2fe(x~")g(!)d! Ll s afe M
. 0 T _

) e3(x—¢) ' Q) ' ez(x-:)l

(3) 3+ _ 4) gt
. n
If K(x,7)= z ), then the mtegral equation
r=1
b | |
g(x):?\,‘[K( ) g(t)dt has
a.

n at least n eigen values
(2) at most n eigen valu_e‘s
(3) exactly n eigen values -

(4) more than n eigen values

| ﬂ%er Za Eﬂmmg(x) i\.jK(xr)g(r)dtii

r=

() & ¥ A p ofwalte a7 9
(2) aﬁmnmﬁaa{fﬁmmﬁﬁ_
(3) aﬁnaﬁaaﬁmwﬁﬁ

(4) nﬁ@r&maﬁwﬁmnﬁsﬁ

16/MSPS2_A] 18 - NN ICm.m.l.....



35 Ify=y (x) is a particular solution of y*+(sinx)y'+2y=¢* and y =y, (x)
«, - - is a particular solution of y"+ (sinx)y'+2y= cos2x, then a paricular

solution of y"+(sinx)y'+2y=e*+ 2sin®x is given by

1 1
M y=y)-y, (x)+—2- @) y=y2(x)—‘y1(x)+_—2-
Gy y=y(x)-y,(x)+1 @ ry=y (x).".Jﬁ (x)+1

iy y'+(sinx)y'+2y=¢" @ ffire T y=y1(5c)_ a
Y+ {sinx)y'+2y=cos2x, w1 BRI '@ y=y,(x) ¥, @

y"+(sinx)y'+2y=ex+25in2x % Tt & e

) yﬁyl(x)'yz(x)% @) y=y2(X)"y1(x)+é
@ y=3x)-y,(x)+1 @ y=y,(x)-x(x)+ 16

1
36 If x and < are two solutions of y"+P(x)y+Q(x)y=0, then P(x) and

Q(x) are respectively

1 1 I 1
O o2 @ 2

l | _1 1
e 7 2 @ 2 2

W yP()y+O()y=0 F AT x W k@ P(x) Q)

& WA W BN

1 1 1 1
O a2 @ 7
1 1 : 11 |
® vE ® T 16
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' 16 37 For any two events 4 and B, is_ given P

‘. (1)-'_ _P(Ah.'B)a

1A

‘@ P(4nB)

@) P(AAB)

A
plw Blw Bl= &=

@ PlAnB)<

(4)=3/4, P(B)=-15, then

foredl @ weTel 4 &R B % 1%11: T go % P(A)'=3/4,‘P(B)=%, ™

1)y PAnB)z> -

it .]‘:;.il—l

. | @ P(AnB)
10 o puns

) P(AhB)'

A

¥ -IV
Alwr halw &)

- 1A

38 If P(4)=4/52, P(B)=13/52 and P(4NB)=1/52, then P(ACnB) is

[ A0
m 3
48

(3) )

@)

(4)

12
52

13

52

AR p(4)=4/52, P(B)=13/52 & P(Ané)=1/sz T P(ACnB) -t

AW B
40
16 o 2

16/ MSPS2_A]
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20

12

32

13

32
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1
39 Let the pdf of x is given by p(x:v)=-A—(,v=l-,_2, ------ »N then 16

E(xz) is
N+l N+1
o L o A
) 2(N+1)(2N +1) @ (N+1)(2N+1)

6

x &1 TR 42T Rt gon ¥ P(x=v)='—]1‘7,v=l,2, ...... N wa B(x)

H AN ¥
i N+1 T N+1
® 5 @
AN+D(2N+1)  (N+1)(2N+

3 ( )6( ) @ ( )g ) | 16

| 1 if 0<x<l

40 The pdf of x is J (x)={0 otherwise  then the least value of -
P{x———sz Tl-z—} is
(1) 3/4 _ @ /4
(3) 12 @ 173
. 1 ak 0O<x<I 1 T

x & Y T ¥ f(x):{o e - P{x—Esz TE}
1 gaad AW &
(1) 3/4 o (2) /4

® 1 @ 13 o 16

16/ MSPS2_A) 21 I Cone.
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41

42

16

16

16 / MSPS2_A] 2

The shape of a given binomial distribution with p=0-15 and p<i0
will be

(1) highly skewed to the right

(2) highly skewed to the left

(3) symmetric, only if » is large

(4) symmetric |

fiwg wem fred e p;——O‘IS X n<10 ®, 99 fve 4 &1 IR
(1) =& &R fawH

Q) s X faww

(3) v, FAE ST p B AW GG SAuD @
(4) wHMA

In a correction study byx=35/3, then
(1) by, =(5/3)
Xy
@ b,=5/
3) b}x >1
(4) byx <1

Uk geuey swme ¥ hyx=5/3 ¥, @9

[

[N [Conta-..



43 Let X ~B(n=15, p =5] ie. X'S distribution is binomial with parameters 16

1
15, 7 Then the mode/modes of the distribution is/are

(1) 8 - 2 8,9
@) 7,8 @ 7

& X~B[n=1s,p-.-.-12-], B Wi e fovw ¥, Reeh W 1S

1

E1Ed 5 ™ TR e % §gae e
(1 8 : 2) 89
G) 7,8 (4) 7

44  The inclusion probability of /-th (1=1,2,...., N) unit in the sample of 16
size # seluted through SRSWOR from a population of size N is

| ,
(1) N 2y =

1 -1_(1___1_JH ’
G) T @ "\ v)

W}:WWW??WNW%W@,WWW;
T whramem fafy @ g @ }, &) wow @ R sor :'(i=1,‘2,_ ,,,,,, N)
& yhest § ohefwa R & witea o7 3

1 .
o = @)

k|

G)

’ 16

16/ MSPS2_ Al 3 M TCom..



l" S
o

16

16

45

46

If the joint distribution of two random variables (x, y) is f(x, y)=x+y,

0<x<1:0<y<l. The marginal distribution of x is’

X
@ -3

Oy x g y BT UIFE WEE §eT ¥ f(x, p)=x+y, 0Sx<1;0<p<]

q9 x ® GMig €29 %

1 x+l 2 x+-1-

m g @ x5
x X

® 3 @ 1-3

Let X,X, be a random sample from N(0,1) and ¥, ¥, be a random

sample from N(1,1) and let ¥;'s are independent of ¥;'s. Then the

distribution of U = ( WtY,— 2)2 / (xz - X )2 is
(1) Z"(l, 1) 2y F(L,2)
3 %*(2) @ 1(2)

afe x, x, u% aEfes wkweEt & N(o,1) @f,aﬂ'{yl,yz-qmwuﬁf%w
Theet & N(L]) ® R x's wE y's o F WaA ¥l @

U=(yl+y2—2)2l(xé—x1)2 H §eT B

(1 F(1) | | ' (2 F(,2)
(3) y° (2) | @ (2
16/ MSPS2_A] 24 MR [Contd..
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: . . A L e .
. e e AT T I . .
e T [ TR -

. 4?_ :If -I}-:Xﬁf" §,_Whér¢ YHXI’an(p%l)_’ I3(1:;;+1)xl and gn.xl is a multivariate 16

regfession model. Then the estimate of B is
(). (x'x)xr
@ (xx)y'x

@ (xx)y'xy

»

@ (xxy(xw)

afg Y=XB+&, wTEl Ynxl’Xﬁx(p+l)’B(p+l)Xl o grexl T g WW -

'W%,'aa_ﬁmm%

1) (x'x)xr
2 (xx)'x

3 (xx)! X'} | | 16

@ (xx)! (X'f)

Consider the following sequence of numbers :
54, 64, 83, 66, 52, 86, 80, 45, 60, 65, 68, 55, 50, 38, 75

If a Run test is to be performed based on the median value, then the number
of runs in the sequence is

1 6 @ 7

) s | @ 9

Prefifen wemsl @ o & g 3

54, 64, 83, 66, 52, 86, 80, 45, 60, 65, 68, 55, 50, 38, 75

AR wh Tl miEem F oenaw W Rear W, @ 3@ Ao § @
B v o
(1) 6 @ 7

ONE N @ 9 ‘ 16
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16"

16

16

Consider the following statements :

(Iy Sample mean is unbiased

(i) Sample mean is sufficient

(If) UMVUE is unique

Which of the following are correct as far as N(,1) is concerned ?
(1) . Only (I) 1s true (2) Both (I) and (II) are true
(3) Only (1) is true (4) All are correct

P wow RA 30 %

(1) whed @ o ¥ )

@ whyest me watw ¥ o

) UMVUE & ¥ 1

a9 wirear et N(l) % ged § P B ¥ ww-wm @@ ¥ 7

(1) Faw (1) T % @ &R A EEd
(3) waw (1) T8 ¥ @) w3

if 2 one-tailed test for a proportion is being performed and the upper critical
value is +2-33 and the test Statistic is equal to +1-37 then

(1) the H, should not be rejected

(2) the A, should not be rejected

'(3) the H, should be rejected

(4) the H should be rejected

uﬁwqmqﬂm,mwuﬂw%ﬁrqmﬁww%,ﬁw%m
Fifte T ¥ +233 ol wliem wifwmd @ W ¥ 4137 7 |

(1) Ho'aﬁﬁTWHﬁﬁﬁmwaﬁq
@ H, ® P 7@ e s i
@) H, = free s @y
@)y H @ Frwen s Ay
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